H E £ i x
I & ' A oA RO% B E HEHRE B
T
PR BRARELT m3 44.0 40
HEL PR A% AR m3 17.8 20
5% 1 E R DID#& L=5. Okm m3 44.0 40
2 ith KT Z AR TONIE m3 44.0 40
ER#ERET
FEIRER [-1 FF5REp O &Y B1000*+H1800+L6300 £t 1 1
I-1 %M A%E Hh b HEER3E A #8 1 1
A-3 4ERRER T B (BXER) 5947 nyh BYOO*HB00 %A 1 1
BIEER
ERMRE FA150 BEE m 2.8 3
) #£150 P=220 & 2 2
BERR— b W400 % T )L m 2.1 3
BEHER
ERMFRE AVP125 BEE m 19.6 20
ER %125 P=185 & 14 14
BRI — b W600 4 )L m 2.1 3
BNEIAER
ERMFRE AVPTS EE m 4.0 4
ERMFRE FEP80 m 1.0 1
) #£75 P=130 & 2 2
BRI — b W150 %)L m 5.0 5
REIBT
SR QmEHAs (13) t=3cm m 4.9 5
LERRAE YiAR R (C-20) t=19cm m 3.8 4
T B B4ERH (RC-40) t=45cm m 3.8 4
MT
BIREMR FEP30 m 2.0 2
b Fil Eri%e YA R (C-20) t=10cm m 9.0 9
BR A& B4ERH (RC-40) t=20cm m 9.0 9
mMOBIERE H=1. 2m m 9.0 9




#H = & x
T i EAl Mo BO® B E HEHE
S R U B As t=15cmiAF m 10.6 11
S R As t=3cm m 4.9 5
e E fi As DIDF L=3. 4km m3 0.2 0.2
B0 AstR t 0.4 0.4
RE&T
T8 EEMARR) H=3.omLLF m 16.0 16
T B @EEMARR) H=2.5mLLF m 6.0 6
T8 @EEMARR) H=2.OmLLF m 2.7 3
BE2EXRCE) TIHEE L+Ets -+ L=11. Om = 1 1
BRELEXR (B TIHEE LRy -+ L=1.3m =X 1 1
REFEER B X% L LYN= = 1 1
BiRE
1R R A E Hi FrEA40km 1£18 t 2.9 3




IT HEHES
it Al 1 # =
T
PRIE BRARBLT 36.31 4+ 9.00 — 1.175 x 0.96 x 1.17 43.99 44.0 m3
HRL B8 A R 31.53 4+ 543 — 19.17 17.79 17.8 m3
(=BR5y) | 4R ER 1.36 x(2.13 — 0.30 )x 6.60 x 1 H 16. 43
I Wty 1.60 x 6.70 x 0.10 x 2 x 1 = 2.14
SHRE AR 1.175 x 0.96 x 0.53 x 1 & 0. 60
19.17
T 1 & i DID#F L=5. Okm 43.99 43.99 44.0 m3
B Hh BEIZAMTORE 43.99 43.99 44.0 m3
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(m) | ) | ) | m) | ) [ ] () | () [Em] o) [m] () [T ] b [T ] (b [ ] (b [ =
+8 H=2. 5m T FA150 AVP125
NO.8 -+ 8.310 [NO.8 + 11.610 3.3001 1.175] 1.175| 2.01 6.60] 2 |10.03[ 7.68] 0.02] 1| 0.11| 7 4.77|1.34( 3.880.45] 3.88(0.19] 3.88(0.03
A-3
(BE3R)
NO.8 + 11.610 |NO.8 -+ 14.910 |  3.300 o)
5132 B ERAEMTER AVP75
@ 1.000{ 0.500f 0.500f 1.35] 2.00[2 [0.03] 0.66 0.01] 1 0.33/0.68[ 0.50(0.45] 0.50(0.19] 0.50{0.03
5132 B ERIEMTER AVP75
) 1.000{ 0.500f 0.500f 1.35] 2.00[2 [0.03] 0.66 0.01] 1 0.33/0.68[ 0.50(0.45] 0.50(0.19] 0.50{0.03
& i 8. 600 10. 60 9.00] 0.02 0.13 5.43 4.88 4.88 4.88
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(9.93+7.60) /2 BEERAVP125 SRR |_:_0_ 88m
-1 (EEAD [-1 (Eih{al) 8.765] 1.760( 1.760| 2.33 35.77 0.17[ 12| 31.15|2.03| 17.48|0. 20 17.48|0. 10|X% : FFiE - BRL
SEATEH FEPS0 BRERES L=1.0n
@ 1.000( 0.500] 0.500( 1.08 0.54 0.01f 1 0.38[0.78| 0.50[0.20] 0.50|0. 10|R% : ERL
& &t 9.765 36. 31 31.53 17.98 17.98
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it Al " X # =)

FEIAED

-1 FAER O &Y B1000%H1800+L6300 1 1 1

-1 A E Sk E i E 2R 3E A 1 1 1 #8

A-3 HFFAER T B (BEER)  |9747 myh BI0OxH600 1 1 1 #
1S E R

ERMERE FA150 EE 2.8 2.8 2.8 m

BB %150 P=220 2 2 2 &

IV Y]

BRI — b W400 #J L 2.8 — 0.15 2.7 2.7 m
BELER

ERMERE AVP125 EE 19.6 19.6 19.6 m

BB %125 P=185 14 14 14 &

IV YIS

BRI — b W600 & JJL 2.8 — 0.15 2.7 2.7 m
BHSLAER

ERMERE AVPT5 BEE 4.0 4.0 4.0 m

ERMERE FEP80 1.0 1.0 1.0 m

BB %75 P=130 2 2 2 &

BRI — b W50 #J )L 5.0 5.0 5.0 m
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BET—TILIREE FA150
pil] =1 BIER| £3 [HRER|Es 6w |thE (/) | &t dE/m = =
(m) (%) (m) (m) (m) (&)
No.8 + 881 ~ No.8 +11.61 2.8 1 2.8 2.8 2 | 150%x 1
=] & 2.8 2.8 2.8 - 2




2 H R % B N EHE
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BHT—TILIREE AWP125
pil] = MIER| &3 [HhRER|EE Gn [#E (1m) | &5 0@/ T
(m) (%) (m) (m) (m) (&)
No.8 + 881 ~ No.8 +11.61 2.8 ) 19.6 19.6 14 | 125 x 74
=] & 2.8 19.6 19.6 - 14
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@ 2.0 2.0 2.0 1 | BlIAEEs
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5 5.0 5.0 4.0 0.0 0.0 1.0 2
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T & A " = 4 =
AEAIO v UR - B 1 x 10 = 10 #8
A9 LR1Y—TJ | AWP125H 12 x 10 = 120 &
NIILI IR FEPS8OFR 1 x 10 = 10 &
¥ L E#ECoBy 4% ( 1.60 + 6.70 )x 2 x 0.1 x 10 = 16.6 m
HE#Ear o )— k| (218-8-40BB 1.60 x 6.70 x 0.1 x 10 = 10.7 m3

EHRE & E4om t=100m 1.60 x 6.70 x 10 =| 107.2 m




A-3 HF5EER I 2 (B1200 x H1500 X L3300) BEE% (&2 ={A)

[ ED)
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e
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[5 2b2Y-7" FA150x1]
[4 2b2)-7" AVP125 x 7]

I & oA =1 = 25 =
AH KT Ows | W00 £E&E 1 x 10 = 10 1@
A5 RRY—7T | FAI50F 1 x 10 = 10 {&
49 R —T | AVP125F 7 x 10 = 70 &




REIBL HEE
bt Al g = # =
D E Q@B 4£As (13) t=3cm 4.88 4.88 4.9 m
L ERRAE YA (C-20) t=19cm 4.8 — 1.175 x 0.96 3.75 3.8 m
TRERE BE4ERE (RC-40) t=45cm 4.8 — 1.175 x 0.96 3.75 3.8 m




o] Al " = # =
BREMER FEP30 2.0 2.0 2.0 m
LA E S EIARE (6-20) t=10cm 17.98 — 1.36 x 6.60 (4FZEERIERR) 9.0 9.0 m
R Az BLERT RO-40) t=200m 17.98 — 1.36 x 6.60 (iFEEERIZEER) 9.0 9.0 m
moOHIERE H=1. 2m 9.0 9.0 9.0 m
&2 R U1 B As t=15cmLLF 10. 60 10. 60 10.6 m
St AR AR R As t=3cm 4.88 4.88 49 m
BAE As DIDF L=3.4km 4.88 x 0.03 0.15 0.2 m3
B4 A0 5 Asif 0.15 x 2.35 0.35 0.4 t
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DHRIESE
H=1. 2m
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¥
T \II
I i oA g = 51 =
R IAEALA (CUAZ-20rACO) | L=2. Tm ZRKE9cm 2 = 2 2 X
BIARA CUAZ-20rACD) [ L=1.8m RE7. 5om 9 = 9 9 K
B H@4cm L=6m 65 = 65 65
L Ak £ 3mm L=20m 27 = 27 27

BALE #11x65mm 1.8 = 1.8 1.8 kg




RET — HEHEE

] il " 2 # =
+ B @EEHER) H=3. OmLL 0.333 x 24 x 2 = 15.984 16.0
T B (EEHHXiR) H=2. SmLLF 0.333 x 2 x 2 + ( 33 — 09 ) x 2 = 6.012 6.0
T B (8 S K iR) H=2. OmLL T 0.333 x 4 x 2 = 2664 2.7
BRELEIR (2R TAIREAE L +R A - ( 15.984 + 6.012 ) = 2 = 10.998 11.0
BRELEXR () VIS LA - 2.664 = 2 = 1.332 1.3
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EhE BRI
@ A 5 st £
1R 5% 14 32 ik FriE40km 118 (3. Om) 42.60 kg/#& x (300 .~ 100 m) x 15.984 2,042.8
[EEMEIR 333+50%4] (2. 5m) 35.50 kg/#& x ( 300 %%~ 100 m)Xx 6.012 640. 3
(2. Om) 28.40 kg/#% x ( 300 &~ 100 m) x 2.664 221.0
)2 2,910. 1 2.9 t




